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The figures in the margin indicate full marks
Jor the questions

1. Answer the following questions in brief :
1x10=10
wTe fi opPRs vy TR i

(a) Name the first Nation-State in Europe.

TR 2o FfS-83 I foran |

(b) When was Charles II restored as the
king of England?

2% vrEfoe (oM TS & <91 (e 2
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(2)

What do you mean by the term ‘Little
Ice Age™

“FH 9T I3 A 3=
Who was Francis Bacon?

FIBE @@ @ e ?

What was ‘Fronde?

‘g’ &2

What do you mean by the term
‘Renaissance’?

R’ A &g e

What is ‘Baroque’?

e 2

Who used the term ‘Mercantilism’ first?

ISR X146 T 20 2R SR 2

In which year was the Sugar Act
passed?

PR ST P 5T e 51 Cafi 2
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(3)

Who invented the Flying Shuttle’?

“TIRN A (I HRER IR 2

2. Answer the following questions in short :

2x5=10 .

TS il 2pTRd oY T fi

(@)

(b)

()

(@)
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What do you mean by the English
Revolution?

A& Red (=ym) WMo & 3= 2

Who were the Cavaliers and the Round-
heads?

Cavalier ®¥ Roundhead ¥4 (I 1R 9

Name two great enlightened despots of
18th century Europe.

S MfOPR @[ Yo W @G
CTRIGA ITR 9 st |

Name two political parties of the English
Parliament in the 18th century.

v W$FR English Parliament3 L\l
AN Wl =1 o=y |
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(4) (5)

(e) Mention two commodities produced (e) Catherine II
under the putting-out system. o @

Putting-out (®%- :
o @gl ;;flyf@?) TS T 1 () Peace Treaty of Versailles, 1783

w15iq *fe pf&, Save

o 4. Answer the following questions : 10x4=40
3. Write short notes on any four of the

following : 5x4=00 oo epTRd T
e R I v some 53 G fora -

fa) Describe the main factors that led to the
rise of Nation-States in Europe.

(@) Thirty Years’ War (1618-1648) TS TS-IF BIRI TP FRPHR 00

911
@1 =3 7@ (Susvr-susy) Or / Sl
”

Analyze the economic and social
dimensions of the 17th century crisis in

ERIeT Europe.
yax ¥fSFR FWEPR FoT gL e

A ~AfRIETR JAmE 40 |

(b) Sir Walter Raleigh

() The Long Parliament
(b)) Discuss the religious policy of the

e e Stuart rulers. How did it contribute to
the outbrealk of the English Civil War?
(d) Concept of Imperialism CAGT Stuart TEPREE 4T Me Racy
A A TS PR PN @S G
AHSAE 41 e @Fomed I8 e 2
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(6) S

R
Or / &3y 800

Discuss the main causes of the
“Reign of James I is called one of long Industrial Revolution.
quarrel between the King and the M el 41 |
Parliament.” Elaborate. Srifiie Re/T T3 FRPTR

“Reign of James I is called one of
long quarrel between the King and

the Parliament.”” Ize1% faray |

% &

(0 What is the Scientific Revolution?
Describe the main reasons behind the
revolution in Europe during the 16th
and 17th centuries.

e Re T 52 sv o > 9% ¥

TS HeAbe ca R IR 71 ey
1 340 |

Or / 9331

Analyze the causes of the American War
of Independence. What were its results?

SRR TRl T FRPER M 307 |
WA FFTE G wifee o

(d) Discuss the putting-out system. What
were its merits and demerits?

Putting-out (T1-3f%) systems GG
T | VR ToRee o FTPREN 3 oifee 9
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